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1. p.74, ℓ.3u:

√
q

q − 1
=⇒ q

q − 1

2. p.75, ℓ.2,6,8:

√
q

q − 1
=⇒ q

q − 1

3. p.230, ℓ.11: =

∫ τ

0
s2/(2−α)ds + .... =⇒=

∫ τ

0
s2/(2−α)ds+ ....

4. p.273, ℓ.6− ℓ.10 of the proof of Cor.2.149 is changed as follows.:
Let Φδ =

∫ ⊕
Rd Φ(q)1{|p−q|≤δ}dq, where we assume that Φ(q) satisfies

E(q) ≤ (Φ(q),H(q)Φ(q))

∥Φ(q)∥2
< E, |p− q| ≤ δ.

We have

E∥Φδ∥2 >
∫
|q−p|≤δ

(Φ(q),H(q)Φ(q))dq = (Φδ,HΦδ).

This contradicts that E is the bottom of the spectrum ofHN . Hence E(0) ≤ EN ≤ E(p)
for all p ∈ Rd. From the continuity of E(p), it follows that E(0) = EN .

5. p.271, ℓ.1: T Fs(p) → Ψ =⇒ T Fs(p) → (2π)−d/2Ψ

6. p.271, ℓ.2: T Gr(p) → Φ =⇒ T Gr(p) → (2π)−d/2Φ

7. p.271, ℓ.7u: eiξ·P
tot
Gr(x) =⇒ e−iξ·P tot

Gr(x)

8. p.271, ℓ.6u: . . . =
∫
Rd Ex[Πs(x)Πr(Bt − ξ) . . . =⇒ . . . =

∫
Rd Ex[Πs(0)Πr(Bt − ξ) . . .

9. p.287, (2.12.34): g2 + g2
1+θ
1−θ =⇒ g2 + g

4
1−θ

10. p.347, ℓ.9u:
e

2
Âµ(y) =⇒ i

e

2
Âµµ(y)

11. p.347, ℓ.11u:
1

2
∂2
yµÂ(y) · (x− y)− ∂yµÂµ(y) =⇒ e

{
1

2
∂2
yµÂ(y) · (x− y)− ∂yµÂµ(y)

}
12. p.347, ℓ.12u:

1

2

{
∂2
yµÂ(y) · (x− y)− (Âµ(y) + Âµ(x))

}
=⇒ 1

2
e
{
∂2
yµÂ(y) · (x− y)− (Âµ(y) + Âµ(x))

}
13. p.347, ℓ.9u:

Γ+
µ (x, y) =

(
F (x), (Âµ(y)i∂yµ +

e

2
Âµ(y) +

e

2
Âµ(y)(Âµ(x) + Âµ(y))G(y)

)
(x− y)

− e2

4
(F (x), (Âµ(y)(x− y))2G(y))

=⇒

Γ+
µ (x, y) =

(
F (x), eih(x,y)(Âµ(y)i∂yµ +

e

2
iÂµµ(y) +

e

2
Âµ(y)(Âµ(x) + Âµ(y))G(y)

)
(x− y)

− e2

4
(F (x), eih(x,y)(Âµ(y)(x− y))2G(y))

1



14. p.347, ℓ.7u:

Γ−
µ (x, y) =

(
F (x),

(
∆yµ − e(Â(x) + Â(y))i∂yµ − e2

4
(Âµ(x) + Âµ(y))

2

)
G(y)

)
=⇒

Γ−
µ (x, y) =

(
F (x), eih(x,y)

(
∆yµ − e(Â(x) + Â(y))i∂yµ − e2

4
(Âµ(x) + Âµ(y))

2

)
G(y)

)
15. p.357, ℓ.9u:

d|Y µ
t |2 = 2Re(Yte

−ik0te−ik·Bt)dBµ
t + dt =⇒ d|Y µ

t |2 = 2Re(Yte
ik0teik·Bt)dBµ

t + dt

16. p.357, ℓ.7u:

· · ·
(∫ t

0
Yse

−ik0se−ik·BsdBs

)
dk · · · =⇒ · · ·

(∫ t

0
Yse

ik0seik·BsdBs

)
dk · · ·

17. p.397, (3.8.20): . . . =

3∑
ν=1

Rµνa
♯(. . .) =⇒ . . . =

3∑
ν=1

Rµνa
∗(. . .)

18. p.397, (3.8.19): Jp = n · ℓx +
1

2
n · σ =⇒ Jp = n · ℓx −

1

2
n · σ

19. p.398, ℓ.7: eiϕn·(1/2)σσµe
−iϕn·(1/2)σ = (Rσ)µ =⇒ eiϕn·(1/2)σσµe

−iϕn·(1/2)σ = (R−1σ)µ

20. p.398, ℓ.9: =
1

2
(R(−i∇) − eRÂ(x))2 + Hrad+ =⇒=

1

2

(
Rσ · R((−i∇)− eÂ(x))

)2
+

Hrad+

21. p.398, (3.8.22): Spec(n · (ℓx + (1/2)σ)) = Z1/2 =⇒ Spec(n · (ℓx − (1/2)σ)) = Z1/2

22. p.400, ℓ.2u: J = (ℓx3 +
1

2
σ3)⊗ 1 + 1⊗ Lf,3 =⇒ J = (ℓx3 −

1

2
σ3)⊗ 1 + 1⊗ Lf,3

23. p.416, 14: Y1 = −
∫ t
0 ĤE,d(Br, θNr , r)Rdr =⇒ Y1 = −

∫ t
0 ĤE,d(Br, θNr , r)dr

24. p.425, Lemma 3.97: (1) in the proof of Theorem 3.96 is true. =⇒ Statement (1) of
the proof of Theorem 3.96 is true.

25. p.429, 3u: Yt(1)n =⇒ Y n
t (1)

26. p.429, 2u: Yt(2)n =⇒ Y n
t (2)

27. p.429, 1u: (3)∥Yt(3, ε)n − eYt(3,ε)∥ =⇒ (3)∥eY n
t (3) − eYt(3,ε)∥

28. p.443, ℓ.8u:
√
3tTt∥φ̂/

√
ω∥

∑m
j=n+1

(
1√
2

)j
=⇒

√
3tTt∥φ̂∥

∑m
j=n+1

(
1√
2

)j

29. p.443, ℓ.10u: 3tTt
t
2n ∥φ̂/

√
ω∥2 =⇒ 3tTt

t
2n ∥φ̂∥

2

30. p.458, 10: Im(c) = . . . =⇒ In(c) = . . .

2



31. p.458, 10: Im = . . . =⇒ In = . . .

32. p.458, 11: Im(c) → Krel
t (c) and Im → Kt as m → ∞ =⇒ In(c) → Krel

t (c) and In → Kt

as n → ∞

33. p.502, (4.5.1): +1⊗ 1
2

(
− d2

dx2 + ωx d
dx

)
+ =⇒= +1⊗ 1

2

(
− d2

dx2 + 2ωx d
dx

)
+

34. p.502, ℓ.11u, 3u, 1u: 1
2

(
− d2

dx2 + ωx d
dx

)
=⇒= 1

2

(
− d2

dx2 + 2ωx d
dx

)

3


